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5 E (c) 7 (%)
Al ok i | 24E5R |

(mm) | F | g | @y | % |0.1m 10.2m 10.3m 10.5m 1.0m | 2.0m | “E# ;F)gijﬁ\
I 733.5 44| 89 09| 3.0} 3.6 48 56 6.1 | 8.8 [12.8 |67.1 39
II 736.0 53| 95| 2.2 | 53| 5.8 6.3 6.7 | 6.8 | 8.1 |11.3 [80.7 39
1 734.9 7.3 110 40| 7.6 ) 81| 8.8} 9.3 9.2 9.510.9 |76.2 39
v 736.7 1.1 |14.4 | 7.9 |11.1|11.3 [11.6 |11.7 {11.3 (10.7 |10.9 |81.5 44
A% 733.2 16.1 | 18.7 | 12.6 | 15.8 | 16.0 | 16.2 | 16.3 | 15.9 | 14.4 | 12.3 | 82.4 47
VI 731.5 19.3 | 21.5 | 16.8 { 20.1 [ 20.0 [20.0 |20.1 |19.5 | 17.8 | 14.7 | 90.5 73
Vi 733.7 21.3123.3119.0|22.4 |22.4 |22.3|22.4121.9(20.1|17.1 |91.1 73
il 732.3 23.1 25.4 1206 1 23.9124.4 [24.6 |25.0 |24.5 |22.9 |18.9 [89.4 ) 69
IX 733.8 20.1123.0 |17.0 | 20.7 [21.3 |21.9 |22.6 |22.4 [22.4 |20.2 |93.3 76
X 735.1 15.7 | 19.0 | 13.1 | 15.8 | 16.6 | 17.4 [18.1 | 18.2 [ 19.4 | 19.6 | 91.2 49
X 737.6 10.3 | 14.2 { 7.1 | 9.7 110.6 |11.8 |12.4 | 13.1 [ 15.5 [17.8 [ 75.6 43
X 736.4 56| 99| 30| 5.2 6.0 7.2 | 7.9 | 8.7 (11.7 | 15.3 [69.9 45
3 734.6 13.3]16.6 | 10.4[13.4 13.8 |14.4 |14.8 |14.8 |15.1 [15.2 | 82.4 39
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(m/s)

H € | B | B |BE| B |2 X|F BB &/ |[HE

%}%ﬁi?j BRI x| ATA | K| = [Clear |Cloudy |Sunless| w¥ | | | LJ
I 2.2 3 0 0 0 21 1 0 2 9
II 2.8 3 0 0 5 10 15 8 1 7
I 2.§ 2 1 0 4 8 16 8 0 3
v 2.; 1 1 0 5 5 22 10 0 0
\'% 1.8 0 0 2 10 7 17 9 0 0
VI 2.0 0 0 2 12 3 23 9 0 0
Vi 1.4 0 0 1 6 1 21 9 0 0
il 1.6 0 0 0 2 1 17 7 0 0
IX 1.3 0 0 0 8 7 16 6 0 0
X 2.0 0 0 0 2 10 17 8 0 0
X 2.3 1 1 1 3 9 12 5 2 1
b 2.2 1 1 0 0 13 9 2 1 5
% 2.1 11 4 6 57 95 186 81 6 25
* R A H

YR 1116, 22 126 V16, 21 VI5, 21, 23 V10, 11, 19 IX1, 3, 7 X9, 20,
EaE () 27, 28, 30, 31 IV10, 11, 12 V7, 8, 9 IX6
BHERH I1, 2, 3
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(om) | (om) | & | 8 FF |BOE (@m) | B |20.5/21.0/ 25 | 210 | =50 | =100
*
2.1 2| 198.90 64 90| 8.0 3 2 2 1 0 0 0
; .
1.8 6| 130.10 41| 185.0 | 41.0| 22| 12] 1 7 5 0 0
*
1.7 7| 123.60 33| 345.0|147.0| 26| 16| 15| 13| 10 1 1
1.7 8| 114.25 29| 159.5| 29.5| 20| 14| 14| 10 6 0 0
1.9 7| 152.55 35| 229.5| 38.0| 16| 17| 17| 12 8 0 0
*
1.6 9| 75.85 18| 295.5| 76.0 50 18| 17| 14 8 2 0
%
1.9 8| 155.76 35| 299.51156.0 | 11| 10 9 6 4 2 1
2.1 81 153.95 37 | 127.0 | 46.0 9| 10 9 7 4 0 0
*
2.1 6| 148.05 40 | 340.5 | 94.5 7] 14| 13| 11 9 2 0
*
1.9 6| 133.10 38 | 274.0 | 67.5 9| 15| 13 9 7 2 0
*
2.0 6| 127.55 411 148510 36.0] 17| 10| 10 9 5 0 0
2.1 41 186.00 61| 69.0] 185 25 5 5 5 4 0 0
1.9 6 | 1699.66 38 [2482.0 | 156.0 { Vi1l | 143 | 135 | 104 | 70 9 2
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s E () 7 = (%)
A ok
N Sy | Ty 2451
(mm) | F ¥ & % (0.1m [0.2m [0.3m [0.5m [1.0m | 2.0m| ) | EHE
B | K NE.
I 736.5 1.0 5.5(98.6 1.2 2.3 3.3| 40| 4.7 8.1(12.8]73.5 33
I 735.1 2.8 7.6199.9 23] 3.0 3.8 43| 45| 6.6 |10.8|69.4 24
11 736.9 7.3 | 11.3 1 4.1 7.6 841} 89| 9.2 9.1 9.1 {10.4180.0 36
v 734.6 13.3 1 16.8 | 9.8 |12.5]12.7 | 13.0 | 13.2 |12.7 | 11.6 | 10.9 | 78.3 38
* * * * * * * * * * * * *
v 733.5 16.6 | 19.7 | 12.6 | 15.7 [ 16.2 | 16.6 | 16.8 | 16.7 | 15.1 | 12.7 | 78.3 40
VI 731.4 18.7 1 21.0 {16.2 (20.0}19.8 120.0}19.9 119.4 | 18.0 {14.8 |91.0 69
Vil 732.3 23.0{25.7|120.1 (24.0}23.8{23.7(23.7|22.8|20.4|16.6|87.5 69
Vil 730.0 22.6 | 25.2 1 20.0 {23.3]23.7 |23.8]|25.6 | 23.8 [ 22.7 | 18.9 | 90.8 71
IX 734.8 22,2 125.0[19.3 [22.723.3 (23.7]24.1123.8|122.9|20.4|387.8 64
X 738.5 16.6 {20.3 |1 13.8 |16.7 | 17.5 | 18.4 1 19.2 [ 19.3 | 20.6 | 20.4 | 80.8 59
Xi 737.4 13.6 | 17.0 | 10.6 {13.1 | 14.2 | 15.0 [ 15.7 | 16.0 | 17.7 | 18.8 | 79.3 52
hl 737.2 8.2 112.6 | 5.1 7.3 83| 9.4]10.3 {10.8|13.6 |16.6 | 71.0 44
* * * * * * * * * * * *® *
PF 734.9 13.8 {17.3 110.8 |13.9 | 14.4 [15.0 [ 15.5 |15.3 | 15.5 | 15.3 | 80.6 24
B, # M % H
(m/s)
A - E | E | E (B | B B2 X|F R|ZA| & |#
4FFR | =
oo | BK X | A |A | [ | = [Clear|Cloudy |Sunless | y¥ || | | L
I 2.4 5 0 0 1 13 9 3 13 24
I 2.1 6 1 0 0 12 11 1 1 8
il 2.1 2 1 0 5 3 19 6 2 3
v 2.1 0 0 0 7 13 11 7 0 0
A\ 1.4 0 0 0 7 11 11 6 0 0
*
VI 1.5 0 0 1 10 2 22 10 0 0
*
Vil 1.0 0 0 3 2 1 19 1 0 0
Vi 2.0 0 0 1 12 4 19 12 0 0
IX 2.0 0 0 0 4 5 15 5 0 0
*
X 2.3 0 0 0 3 11 15 7 0 0
X1 R 0 0 1 5 11 14 7 0 0
*
bl 2.2 0 1 1 0 18 9 2 4 1
F 13 3 7 56 104 174 67 20 36
*REIAH
ZRE 116, 23, 29, 30 IV13 V15, 25 VI2, 17, 24 VN3, 16, 18, 22 IX8, 18, 19,
BCE#) VI, 26 VI13, 14 X 9, 27, 29 XI 22, 28, 29, 30

SERE, FUR, MR, BE £&#WV22
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e | x| T R Bk B B 5 B K 5
| m| M E TEES 24 WM &
I | R = = %%mm? &
(om) | (om) | & | & FF | EFE (@) | B |20.5]21.0 =5 | 210 | =50 [ 2100
2.0 5| 165.65 53| 49.5| 32.0( 26 4 4 2 2 0 0
2.1 4| 186.70 61| 32.0| 10.5| 21 6 6 3 2 0 0
*
2.0 7| 140.75 38| 407.0|143.0| 30| 16| 15| 10 8 2 1
*
2.3 5| 172.70 44| 176.5| 49.0 | 13| 13| 13 8 7 0 0
*
2.5 5| 229.30 53| 169.0 | 72.5| 15 9 9 6 4 1 0
*
1.7 9| 94.00 22| 274.5| 58.5 21 17| 15| 10 8 2 0
2.2 8| 207.40 47| 35.5| 12.5| 11 4 4 3 3 0 0
*
1.7 8| 117.00 28| 431.0|130.0| 18| 16| 15| 14 9 4 1
*
2.2 7| 160.35 43| 400.5 | 124.5| 19| 11| 10 7 6 4 1
*
1.9 5| 152.45 44| 91.0| 37.5 3 7 7 4 4 0 0
*
1.9 5| 146.10 47| 1940 71.0| 16| 12| 12 8 5 1 0
%*
2.1 4| 190.00 63| 121.01 69.0| 16 8 8 3 3 1 0
*
2.1 6 | 1962.40 44 | 2381.5 | 143.0 [m30 | 123 | 118 | 78| 61| 15 3
% W - "
) = | % "
T\ WKE | HK|EE
— L IHdIKN O m oW E E 0 B # B
(HgA) (g F)
0 24 1 0 £ | A H £ | A B
0 17 2 0l B Em A | | 2300 | 52 | v 3 | 52 | v 5
0 2 0 0
& m | | 25 | 52 | v 2 | 52 | X 5
17 0 0 0|l gm0 |5 | @ |28 [ 52 |m| 6
17 0 0 8
o 0 0 0 = L 51 X 25 | 52 II 13
7 0 0 O = g | L) [ st |xm [0 |52 |m| 7
14 0 0 0
14 0 0 0 E > | 51 | X |29 |52 | I 6
6 0 0 # = | B |52 |1 |3 s | 0|0
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153 4 £ E

7 B 2 & i & (C) =
5 = F (c) 7 (%)

(k80 1y | gy 2415

(mm) | 3F ¥ B | sk | #%(0.1m|0.2m|0.3m{0.5m |1.0m | 2.0m| ¥ ;F)%lef!:
I 731.7 46| 8.9 1.1 3.7 4.7 5.7| 6.6 7.3|10.2{14.2| 74.5 37
11 733.4 22| 7.4)199.2 21| 34 44 51| 55| 80|12.2|78.5 34
I 735.8 6.5|11.5| 3.1| 59| 7.3| 8.2| 86| 8.4 89| 11.2] 73.3 45
v 733.6 12.4 1 15.6 | 8.7 |11.1 (11.5|11.9|12.2|11.8 {11.2]|11.2 | 76.1 39
\% 733.8 17.2 1 20.2 )1 13.5 | 16.7 [ 17.0 [ 17.1 | 17.1 | 16.6 | 14.8 | 12.8 | 80.0 54
VI 732.6 21.1 1 23.5{18.5{21.1121.221.0(20.9|20.4)18.4{15.0]88.6 48
Vil 732.9 24.7127.1121.7|125.3|125.2(25.0|24.9|24.2(21.7]|17.4|87.5 n
vl 733.2 26.0 1 28.6 | 23.0 | 25.8 | 26.2 | 26.3 | 26.5 | 26.1 | 23.9 ; 19.3 | 82.4 54
IX 734.1 2,1123.217.7{21.3(22.022.4]23.0(22.9[22.8]20.1/90.4 67
X 736.9 16.0 { 19.4 | 12.8 | 15.9 | 16.7 | 17.5| 18.3 | 18.3 | 19.4 | 19.2 | 83.1 59
X 736.8 11.3 |1 15.3 | 8.0 | 10.7 {11.5(12.7| 13.6 | 14.0 [ 16.0 | 17.5 | 77.3 48
1 738.1 8.0112.0| 4.3 6.8 7.3 86| 9.5]|10.012.5]|15.5]75.9 49
£ 734.4 12,7 | 17.7 | 11.0 | 13.9 | 14,5 15.1 | 15.5 | 15.5 | 15.7 | 15.5 | 80.6 34

J&, # b3 B H

(m/s)

A TR % BB | B W2 XRT R 2| % B8

%ﬂ#ﬁﬁ E2S X1 A | A | [ | = [Clear|Cloudy |Sunless /ull‘ L] L
I 2.4 6 0 0 0 3 10 13 5 2 8
1 2.6 6] o of 1| 2| 13 9 4 4| 12
il 2.4 6 0 1 2 3 10 13 3 1 2
v 2.6 0 0 1 0 8 7 16 7 0 0
\% 2.0 0 0 0 0 7 0 19 8 0 0
Vi 2.2 0 0 0 0 13 3 17 10 0 0
Vil IAZ 0 0 0 2 6 3 15 2 0 0
Vil 1.8 0 0 0 0 3 3 6 3 0 0
IX 2.1 0 0 0 1 3 3 23 8 0 0
X 2.2 0 0 0 0 4 7 15 6 0 0
X 2.1‘ 0 0 0 0 4 13 12 4 0 0
X 2.; 1 1 0 1 3. 14 14 2 2 1
G2 2.; 19 1 2 7 59 86 172 62 9 23
*/R#EIH B

FHEFERINN4, 18, 28 IV2, 11, 18 VI8 VI22, 23 VI3l X19, 28
BoE (CE¥Z) V7 XTI 16 XI 28




p:3 E2tY Bga T EHEBNKRER
T A" —_— %S 2 5 B K B #
Tm| om|® m ox u B M B
| & 'af = ﬁ%mmsi &
(om) | (mm) | & [ #& F |BOE (m) | B |20.5|21.0/ =5 | =10 | =250 | =100
2.0 6 | 162.85 52| 31.0 | 13.0 2 7 5 2 1 0 0
2.2 5| 164.80 54 | 35.0 | 13.5| 12 4 4 3 2 0 0
2.2 6| 183.90 50 | 172.5 | 53.0 | 28| 15| 11 6 5 1 0
1.9 7| 149.05 38| 228.0 | 63.0 | 20| 13| 13 8 6 2 0
19| 8| 178.30 41| 183.5| 87.0 | 18| 12| 12 7 5 1 0
17| 8] 132.00 30| 183.0| 64.5| 23| 15| 14 7 6 1 0
2.4 8| 231.40 53| 81.0 | 40.0 | 31 8 7 4 2 0| -0
2.9 6| 232.35 56 | 56.5 | 20.0 1 8 5 4 4 0 0
1.9 8| 102.30 28| 1320 29.5| 20| 13| 13 8 4 0 0
1.8 7| 134.75 39| 256.5| 64.5| 19| 17| 16 9 8 1 0
2.6 5| 167.20 54| 77.0| 18.0 | 12 9 9 6 3 0 0
2.3 5| 165.10 54| 8.0 26.0| 23| 11| 11 4 3 0 0
2.2 7 | 2004.00 45 | 1516.0 |- 87.0 | V18 | 132 | 120 | 68| 49 6 0
= % % i
% |wm | wox | mm | B K
— | 4L EHR O B oW F # H % B
1 8 5 (Bégu) A q (Hégu) A q
0 15 0| &/ & 8 | =30 | 53 | vi | 23 | 53 [ vl | 24
0 2 1
' 0 ) B S S| | =25 | 53| VvI| 10| 53| IX| 26
16 0 Ll g ms@| <o | 52| @ | 28|53 | m | 17
12 0 1
o 0 0 - L} {52 | W | 21| 583 | i | 14
18 0 0 & g | LJ | s2 | ;|28 | 53| m | 15
15 0 0
6 0 0 e X | 53 | I 2 | 53 | m | 31
8 0 Ol = | 54
2 5 1
106 30 7| | k2l Is2 | | 28| 53| m| 15




g M1 54 £ : & %

o R & s & (C) o

5 ’?:‘,kf; (C) o = (%)
o) | 2 | ik | 2% (0.1m]0.2m 0.3m |0.5m |1.0m | 2.0m| il
= D
I 734.9 46 |103 | 16| 3.7 | 46| 58 ) 66| 7.1 | 96|13.2]|71.3 47
II 731.9 7.1112.1| 3.4| 60| 65| 7.3 | 7.8 7.8 8.6 |10.8 [ 76.4 50
11 733.5 7.7112.4 | 42| 6.9 7.3 | 8.2 | 8.7 | 86| 9.2 |10.8(72.7 48
v 734 .4 12.0 |15.5 | 8.1 [ 11.3 (11.8 |12.3 |12.7 | 12.6 | 12.0 | 11.4 | 76.4 47
v 732.2 16.5 [19.6 | 12.7 [ 15.8 {15.9 | 16.3 | 16.4 [ 15.9 | 14.5 | 12.7 | 77.4 42
VI 734.0 21.6 |23.8 [18.5 [21.2 [21.4 |21.2 {21.2 |20.5 | 18.2 | 14.7 | 88.0 73
“vi 730.4 22.6 {24.7 |19.5 |22.7 | 22.7 [22.7 [ 22.7 |22.1|20.4 |16.8 | 89.4 71
Vi 7319 247 127.2 12221254 (256 |25.7|258{25.2|23.118.8|89.0 73
X 734.7 22.0 |24.6 |19.0 |22.5 |23.1 [23.6 | 24.1 | 23.7 [ 23.1|20.386.9 70
X 734.6 17.8 {21.0 | 14.8 [17.8 | 18.4 |19.0 | 19.8 | 19.7 | 20.5 | 20.2 | 85.6 60
X 737.7 12.5 [16.4 9.9 (13.6 |13.9 | 14.6 |15.4 | 15.6 | 17.1 | 18.7 | 82.6 50
| 737.2 8.6 (129} 54| 83| 8.4 9.6 10.4 {11.0 |13.4 | 16.3 | 69.4 38
F 734.0 14.8 (18.4 | 11.6 [ 14.6 {15.0 | 15.5 | 16.0 [ 15.8 | 15.8 | 15.4 | 80.4 38

J i M E 3 H
(m/s)
A T | &% | B |EE| % w82 X (& H|2H| & |&&
%fgﬂ#ii Bk X | A | A | [< | = |Clear|Cloudy {Sunless| w¥ | || | LI
I R 3 1 0 1 12 9 3 2 4
1I 2.6 0 0 2 3 12 10 3 3 4
11 2.5 1 0 2 2 11 10 6 2
v 2.2 0 0 1 8 4 15 7 0 0
\% 1.7 0 0 1 10 4 13 6 0 0
VI 2.2 0 0 1 6 4 14 8 0 0
Vil l.g 0 0 1 7 1 20 7 0 0
Vi 1.; 0 0 2 3 1 16 5 0 0
IX Vs 0 0 1 7 2 15 8 0 0
X l.g 0 0 2 8 7 13 5 0 0
X R 0 0 1 6 2 19 8 0 0
hi| 1.; 0 0 0 0 15 6 2 1 0
F 4 1 14 61 75 160 68 7 10
* KREH B

PSR 129 1110 W30 IV8, 26 V8, 14 VI7, 10, 30 VII8, 20 VI8, 19, 21,
FEEGEIL 1 IV 16, 17 VIL1, 3, 25, 26, 31 VIl 1, 13 X 19, 23, 29, 30 X 19, 20
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4 #H Baw T EHEBMKREE
x B 7 H
we |wx| — &2 A B K %
AR RETES 2 B M B
- Y
x| BE| = . "‘(mm;’
(om) | (om) | & | & & |ESFE (@m) | B |Z0.5|21.0] 25 | =10 | 250 | =100
*
2.0 5| 179.30 58 | 233.5( 26.5| 31 9 9 7 4 1 0
*
2.1 5| 154.25 50 | 128.5| 39.0| 10| 11| 10 7 5 0 0
*
2.4 5| 184.50 50 | 179.0 | 58.0 | 30| 16| 15| 11 6 1 0
*
2.1 8| 148.20 38 | 226.0 | 68.0 8| 14| 14| 10 7 1 0
* .
2.6 7| 204.40 47| 172.0 | 87.0 | 14| 10 9 7 3 1 0
*
1.9 7| 180.05 42 | 175.0 | 49.0 7 9 9 5 5 0 0
*
1.9 8| 116.60 26| 137.0| 62.5( 20| 11| 11 3 3 1 0
*
2.4 8| 161.10 39| 232.5| 58.0 | 19 9 9 6 6 2 0
*
2.1 8| 139.80 38| 194.5| 565 30| 12| 12| 10 6 1 0
* .
1.9 6| 160.40 46 | 273.0 | 66.0 71 u|l n 8 8 3 0
*
1.9 8 | 104.45 34| 376.5|121.0 | 10| 13| 13 9 7 3 1
*
2.4 3| 188.80 62| 99.0| 43.0| 23 6 5| 4 3 0 0
*
2.1 7 | 1921.85 43 | 2426.5 | 121.0 | x110 | 131 | 127 87| 63| 14 1
5 o = "
. ey Y 4 "
F | RE |k | EE
— |4 dR®| O R W H w H
0 5 0 (BB A1) (BEFI)
£ H B i H H
1 6 Ol & & | |/ | 230
0 6 0
1 0 ol B B R | 225 | B4 | VI | 17 | 54 | X 1
10 0 Ol g mwmam| | <o |5 | @ |2 |5 | m |12
7 0 0 ~
16 0 0 = L 53 | W 8 | 54 | I 1
2 0 Hom el L [ ss | wm |31 |54 | m |12
13 0 0
15 0 1 E ] > | 53 | WM | 20 | 54 | I 4
2 0 0
Eis N
3 0 0 _—
80 17 2| % Ak | ] |3 | m | 12|54 | m |14

29 IX27, 30 X 6 18 XI 10, 25 28 XI 19, 23




g Al 55 4 = £

v | & - H 5 (C) -
5 £ () % (%)
A ok 240
(nm) | 5P 21| g | @y | #% [0.1m |0.2m [0.3m |0.5m 1.0m | 2.0m i ji%jjﬁ\
I 733.5 40| 87| 1.1} 3.7 42| 54| 6.3| 6.9 9.8 (13.9]70.0 39
I 734.5 29|79 00| 23| 37| 48| 56| 5.6| 8.0 |11.7 |67.6 44
1 734.5 6.3 110.8| 3.1 | 6.1 | 65| 7.2 | 7.6 7.4 | 83 [10.7|72.2 36
v 735.4 12.1 1 15.8 8.6 12.7 {12.8 | 13.1 | 13.3 [ 12.5 [ 11.5 | 11.0 | 79.5 53
\% 732.8 17.3 120.8 113.2 [17.5 |17.2 | 17.5 [ 17.8 | 16.9 | 15.4 | 13.1 | 85.5 56
VI 732.0 21.5 124.2 (18.4 | 22.3 |22.1 (22.3 |22.521.6 [19.3 |15.4 |88.5 70
vii 730.1 22.1 125.0 119.4 | 23.6 | 23.7 {24.4 |24.0 | 23.4 | 21.6 | 18.0 | 93.5 72
Vi 731.5 21.6 | 24.5 | 18.7 | 22.7 [ 23.0 {23.6 [23.9 |23.4(22.5|19.8 |90.7 73
IX 734.3 20.9 |23.7 |18.2 | 21.5 |22.1 | 22.6 |23.3 | 23.0 | 22.7 | 20.4 | 89.1 69
X 735.6 16.9 | 20.3 {13.7 | 16.4 |17.2 | 18.0 [ 18.8 | 18.6 | 19.8 [ 19.8 | 82.2 58
X 735.9 11.9 |15.8 | 8.8 |11.1 [11.8 |12.7 [13.6 | 14.0 [ 16.0 | 18.2 | 77.2 51
il 731.0 6.2 1103 3.2 49| 55| 6.8 7.9 89 |11.9 {15.7 | 68.8 45
£ 733.4 13.6 (17.3 (105 |13.7 (14.2 |14.9 |15.4 | 15.2 | 15.6 {15.6 | 80.4 36
b M % H
(m/s)
H s K| B | BE| % (W2 RK|H B|IFE /& | BT
géﬁg Bk X | AT A | IX | = [Clear|Cloudy [Suntess| ¥ | || | LJ
1 1.; 5 0 0 3 13 11 4 4 11
II l.g 3 0 0 0 17 6 1 0 10
1 R 2 0 0 2 5 19 0 0 4
v 2.3 0 1 1 4 2 19 5 0 0
v 2.4 0 0 2 9 5 17 7 0 0
VI 1.; 0 0 2 7 1 18 6 0 0
Vil 2.5 0 0 2 6 2 22 7 0 0
i 2.; 0 0 1 6 3 18 7 0 0
IX 2.1’; 0 0 1 6 4 15 4 0 0
X 2.; 0 0 1 5 10 12 3 0 0
X 3.2 0 0 0 5 9 15 5 0 0
i 2.; 1 1 2 2 21 5 1 0 11
F 1 2 12 55 92 177 50 4 36
* KR AH

FHERETL 13, 28 7, 9, 29 IV 13, 14, 27, 30 V 8, 9, 16, 21 VI 2, 29 Vil 6, 8, 30
HERR#I126~29 Bk (FE#¥) 115 22, 271124 IV1 VI19 VI12, 13, 20 VU4, 23IX6,
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m| om| W NS 24 B M B
% |we | F . Bl ‘
(mm) | (mm) | &= |#& 3 |BSE (am) | B [20.5[21.0/ =5 | 210 | 250 | =100
2.0| 5| 160.70 52| 178.0 | 53.0 | 28| 10| 9| 7| 6| 1 0
21| 3| 176.3 67| 300| 170| 22| 6| 3| 3| 2| of o
16| 7 ® & | 2165 56.5| 10| 1] 10/ 9| 8| 2| o
191 8| 137.10 35| 2025 69.0] 30| 15| 14| 9| 8| 3| o
26| 7| 164.60 38| 3455 | 635 9| 1| 17| 13| 10| 2| o0
22| 8| 2.2 33| 1685 385 2| 10| 8 71 6| o] o
21| 9| 104.80 24| 2180 56.0| 6| 11| 1 9| 8 1| o
23| 8| us.10 28 | 368.5 (156.0 | 2| 11| 11 71 6| 2 1
23| 7 139.55 38| 165.0 | 35.0| 26| 15| 15| 8| 5| o o
271 6 168.25 48| 3735 93.0| 24| 10 8| 6| 5| 4| o
19| 6| 139.20 451 198.0 | 79.0| 21| 1| 10| 4| 4| 2] o
22| 3| 217.10 72| 1585 | 85| 12| 6| 5| 4| 4 1{ o0
22| 6 2781.5 [156.0 | vm2 | ‘132 | 121 | 86{ 72| 18 1
s wWoE = 5
7 |wm ok mm | B K
— |- ® ® W F M w  H % B
. 12 0 (H@éﬂ) . (ﬂ@gu) 0|
0 13 1| B &A@\ | =230 |55 [ vm| 15 |5 | m| 15
1 4 1
12 0 1 BEE &R EB| 25|55 |V 1m |5 | X 11
11 0 llgma@|| so| s |1 6 | 55 | m | 23
21 0 2
18 0 0 % L] | 55 I 17 | 55 I 24
20 0 N | Ld | s |1 6 | 55 | m | 13
10 0 2
7 0 0 E > | 55 I 5 [ 55 | m | 24
4 0 0
3 10 0 # =R
108 39 9 | # P I - 2 | 55 | m | 13

VIi 2, 3, 18, 26 IX26, 27 X14, 16, 19, 20, 24 X121, 28 XI 2, 12
7, 26, 28 X21, 22, 23 XI 4, 5
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BB A 51 4 i %

o = ] ol e m () = ; B
Y (c) % = (%)

g - o | i | %% |0.1m|0.2m 0.3m |0.5m| 1.0m | 2.0m| ke i

- DI

I 690.4| 1.1 6.7]95.0[9.9] 08| 1.6 34| 59| 86507 25
11 694.5| 23| 7.1(97.2| 1.6| 2.1| 2.5 35| 49| 6.9(66.0 38
mo| 692.9| 41| 91|989| 3.9| 46| 5.5 6.3| 6.5| 7.0 |64.4 29
v | 694.4| 88|13.3| 3.6| 85| 8.5/ 9.2 9.3 8.4| 7.9 (740 37
V| 691.2| 14.6|18.4| 8.2|13.8[13.4|13.8 13.6 | 12.0 | 10.3 | 74.9 35
Vi | 689.9| 17.8|20.8|13.7|18.9|18.4|18.5 18.0 | 16.0 | 13.5 | 83.4 62
Vi | 691.3| 20.9|24.2{15.5|20.8]20.2]20.4 19.8 | 17.7 | 15.5 | 80.2 60
Vil | 690.7| 21.7|24.9{17.0|22.6|22.3 | 23.0 22.5|20.4 | 17.8 | 81.1 59
X 692.2 17.3120.5] 13.3 | 18.6 | 18.6 | 19.4 20.0 1 19.5 | 18.6 84.2 58
X | 693.8| 127|17.5| 7.8]13.9|14.1| 14,9 16.4 | 16.9 | 17.1 | 76.5 48
X | e59| 6.6|11.1] 08| 7.0| 7.5 8.6 11.2 | 13.1 | 14.6 | 72.7 48
M | 694.3| 24| 8.0|97.1| 1.8] 2.6| 3.4 6.0 8.7 |11.1|68.6 27
£ 26| 109|151 57]109]|11.1]11.7 125|125 | 12.4 | 73.1 25

B, i M ] H

(m/s)

A £ | E | BE| B bW | B X|T B|IZ2A| /& | HF

%‘—‘lﬁiﬁ X X | A | A | | = |Clear|Cloudy |Sunless ),U-U L] {Ld
I 1 0| 24 1 0 20| 28
1 2 8| 13 10 5 3| 7
11 3 12 11 14 3 0 10
v 2 17 9 14 7 0 1
v 0 5| 9 15 8 ol o
Vi 0 A 22 7 ol o
Vi 0 0| s 16 8 o| o
v 0 12 6 16 6 ol o
IX 0 1B 5 17 6 o o
X 0 ol 10 1 12, 2| o
X 0 7| 1 12 2 0| 7
1 3 5| 23 5 0 2| 19
F 11 106 | 129 | 153 64 57| 72
* /KRB HH v
PHAEN 4 EE (BY) 111 V4 IX18

AR =V 4

HER (BEH) 116 V29
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;i 0 Ba B AQE B KK A
i & ¥ A
B | FH | F | owome n Bk & B A B oK B %
WE| om|w B ¢ W M &
o =
xn (wE| T ] Rl g |
(mm) | (um) | & | 8 5t |BEOHE (]ﬁ) B [20.5{=1.0| =25 | 210 | =50 [ =100
2.9 1| 182.30 58 1.0 10| 23 1 1 0 0 0 0
* *
1.9 5| 151.35 50 | 108.0 | 31.5| 29 8 7 5 5 0 0
2.1 6| 160.50 43| 745 14.0( 29| 12| 10 6 4 0 0
2.0 6| 142.00 36| 141.5| a440| 30| 17| 13 6 4 0 0
2.3 6| 155.90 36| 177.0 | 36.0 26| 19| 17| 12 7 0 0
2.0 9| 94.20 22| 198.0 | 31.5 50 19| 17| 11 9 0 0
*
2.7 7 140.70 32| 103.5| 34.5| 19| 14| 13 5 2 0 0
* *
2.4 7| 122.55 30| 9.0| 205! 2| 16| 16 4 3 0 0
1.9 7| 108.70 29 | 286.5| 44.0 9| 16| 15| 11| 10 0 0
1.9 5| 173.30 50 | 113.0 | 25.5 9l 1] 11 9 6 0 0
1.3 5| 136.05 44! 705 220 14| 11| 10 5 3 0 0
2.0 2| 179.20 59 | 39.0| 25.0| 24 5 5 3 1 0 0
* * * V30
2.7 6 | 1746.75 40 | 1408.5 | 44.0 | ;v°g | 152 | 135 | 77| 54 0 0
* o = %
~ T e | B % !
#&RE | HK | EE
~— L HRB¥ O I w B # B
“| (rEFn) (BEF0)
29 3 % | A H # | A H
22 10 & A B =230 51 VIl 26 51 | VO 24
13 3 o ‘
) 0 ® & A R 2255 | sl VI 11 51 IX 10
0 0 "ESKE | =0 | 50 | 1| 2|50 1v]| 1
0 0
ol o £ Ll | s | x 4 | 51| | 27
ol 0 % el L | so | m| 3]s | v | s
0 0
ol o Ed XK | 50 | W@ 9| 51 | IV | 9
8 0 = | K
; T | PG 50 | M 9| 51 | m | 17
24 3
98| 19 ] x| | so | m | 25| 51| v| s
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WA 52 4 & ES

o = ] ey Hh ' (C) = e
Y (c) % = (%)

(ik)?i)’ iy | Ty 2454

(mm) | ¥ | g | ©f | #% [0.1m[0.2m |0.3m |0.5m 1.0m | 2.0m T :ap)%f%
I 693.6 97.9| 3.6 193.1|99.6{ 00| 0.6 2.71 5.3 | 8.1]80.2 49
II 693.6 99.8| 6.1193.8| 0.1| 0.1 0.4 22| 41} 6.4 s r
I 694.6 4.9110.999.2| 45| 48| 5.4 6.0 581 6.3|68.7 27
v 692.2 11.7 [ 17.0 | 5.1 {10.2 | 10.1 | 10.7 10.5] 9.3 | 8.2 |64.8 28
v 691.6 16.0 [ 20.1 | 8.8 | 15.4 | 14.4 | 14.8 14.5 | 12.8 | 11.0 | 63.8 20
VI 690.0 17.2 1 19.5 | 13.5 ;1 18.9 { 17.8 | 17.8 17.4 | 15.6 | 13.5 | 87.8 61
Vii 689.8 23.1126.6 |17.4 | 24.0| 22.6 | 22.8 21.6 | 18.8 [ 16.1 | 80.0 67
i 688.8 21.2 123.7 |17.6 | 22.5|22.2 | 22.6 22.5121.0 |119.0 | 88.1 51
X 693.8 19.6 | 23.2 | 15.4 | 21.2 j 21.1 | 21.8 21.8120.8 |19.5 83.7 64
X 696.6 14.6 | 18.8 | 9.0 | 15.1 | 15.4 | 16.4 17.6 | 18.2 | 18.4 | 75.7 48
X1 696.3 9.8114.3} 5.2}110.1|10.8|11.9 13.5 ] 15.0 | 16.1 | 75.7 31
Xi 695.0 4.5110.7 1 99.3| 3.4 4.2] 5.6 7.8 110.7 | 12.9 | 64.5 22
F 693.0 11.7 |16.2} 6.5(12.1 |12.0 | 12.6 13.2 { 13.1 | 13.0

& & e % H

(m/s)

A T | & | E |BEE |5 (W |2 XA R|B2A| & |FE

%gﬁ';g Bk X | A | A | K| = [Clear|Cloudy [Sunless| | | || L
I 5 10 17 6 1 22 22
II 5 8 21 3 1 12 12
1 4 8 10 12 3 3 7
v 0 12 12 15 2 1 2
A\ 0 9 13 10 5 0 0
VI 0 17 2 23 10 0 0
VI 0 5 4 10° 0 0 0
Vil 0 19 5 22 13 0 0
IX 0 11 4 18 5 0 0
X 0 7 14 9 5 0 0
)l 0 5 13 14 4 3 1
bl 0 2 18 6 2 14 17
F 14 113 | 133 148 51 55 61
* KB H H

HREsg (B vi27, 28 IX16
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ki H | Bk AL OH MR A
' 8 2 9 H 4
ws | wxl| w H R % 53 K = 7 5 B K #
e B X o B M &
= BN =
| we| B ] Bl g
(mm) | (mm) | B | & & |Eo® (ﬁ) H |=20.5/=1.0] 25| 210 | =250 {=100
1.7 3| 165.10 53 95| 7.0| 26 5 2 1 0 0 0
*
2.2 2| 203.00 66 | 35.0] 11.5| 14 7 6 4 1 0 0
2.6 6| 173.55 47 | 106.0 | 38.5| 30| 15| 13 5 2 0 0
3.8 5| 202.90 52 | 106.5| 15.0 9| 13| 12 9 5 0 0
4.3 5| 214.70 50 | 64.5| 30.0| 15| 13| 12 3 1 0 0
*
1.6 9| 72.50 17| 196.5| 46.0| 24| 21| 19| 10 6 0 0
* *
4.0 6| 159.20 39 | 176.0 | 30.5 3] 18] 17| 1 4 0 0
2.0 8| 87.60 21| 326.5| 95.5| 13| 18| 16| 12 7 2 0
* *
2.6 7| 115.60 32| 289.5[119.0| 19| 15| 13| 8 7 1 1
2.5 4] 188.20 54 | 51.5| 35.0 3 6 4 2 2 0 0
1.7 5| 137.70 45| 94.0 | 56.0| 16 8 6 4 3 1 0
2.1 3] 158.45 52 | 35.5| 12.0| 31 5 5 3 3 0 0
* *
2.6 5 | 1878.50 43 |1491.0 [ 119.0 | 1X19 | 144 | 125| 72| 41 4 1
i wE -
_ : _ &l & ES =01]
RE | &k | BT
== I T w w #
(HEFI) (HEF)
29, 8 # | A | 8| # | A |8
24 7 B4 B | =300 | 52 | vo| 31| 52 | wm 6
13 3
5 0 | oR s | 2225 | 52 \Y 20 52 | IX | 20
0 0 KA\ | <o 5 | x| 12| s5]|WN 5
0 0
0 0 % L] 51 X 26 | 52 | Iv | 30
0p 0 % | Ld [ s m | 6] 52| v s
0 0
0 0 Et X 51 | X | 23| 52 | m | 30
3 0
£ % 51 | X | 23 | 52 | m | 30
19 0
9 | 18 & k| = | st | wm | 13 52| v 5
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oM 53 4 3 E
T i = in H B (C) " R
5 (c) % = (%)
A N
Ok ) sy | g 2418
(mm) | | g | @y | #%(0.1m [0.2m |0.3m |0.5m |1.0m | 2.0m A igﬁﬁ
I 691.0 1.7] 6.4|9%.3]07] 19| X 4.7 | 7.2 9.8 |62.9 11
I 691.4 | 99.6 | 5.1|93.5] 0.7 | 1.6| X 3.2 53| 77| % "
il 691.9 4.7 98|97.8| 3.0| 4.4 48 5.2 | 5.7 ] 6.9 |51.9 16
v 6901.6 | 9.8 [15.2| 3.1 7.3| 8.4 9.0 8.8 8.1 7.8 |60.1 15
\% 692.5 | 15.7 [19.5 | 9.5 | 14.3 | 14.8 [ 15.0 14.2 | 12.3 | 10.5 | 74.0 31
VI 690.1 | 20.9 |24.4 [15.0 | 19.2 | 19.2 | 19.3 18.5 | 16.5 | 13.7 | 77.7 28
vl 691.6 | 24.5 |28.6 |18.2]23.7 [23.9 |24.1 23.0 | 20.6 | 17.2 | 74.0 58
Vil 691.9 | 25.2 |29.7 | 18.1 [23.7 | 24.5 | 25.0 24.1|22.4 | 19.5 | 66.5 43
IX 693.8 | 17.4 |21.1|13.8 | 19.3 | 20.4 | 21.0 21.0 | 21.0 | 19.7 | 89.5 61
X 696.1 | 13.0 [17.5| 7.5 |13.0 | 14.6 | 15.6 16.2 | 17.2 | 17.8 | 75.9 47
| 696.3 | 8.0 [13.3| 25| 7.4| 9.6 |10.7 11.5 | 13.3 | 15.0 | 67.6 33
1 696.9 3.8 9.2(98.4| 28| 48] 5.6 6.7 9.2 [12.0 | 67.6 37
% 692.9 | 12.0 [16.7 | 6.1 [11.3]12.3 13.113.2 | 13.1
B i % A
(m/s)
A T | K| B |(BE| & |k |2 K&~ BRI\ BA| /B |HE
géﬂ#iﬁ? Bk X1 A | & | [X | = |Clear |Cloudy [Sunless /\,\lD L] L
I 8 ' 6| 12 13 0 4| 17
I 8 4| 14 8 3 2| 12
il 5 50 17 8 2 0| 15
v 2 8| 10 13 5 0 1
\Y 0 10| 10 15 4 0| o
VI 0 5 16 5 0| o
Vil 0 4 6 8 1 O
Vil 0 4| 13 5 0 o] o
X 0 19 3 22 9 0| o
X 0 8 8 12 2 o] o
Xi 0 6| 18 7 3 2| 3
a 3 2| 18 6 2 19| 17
% 26 84 | 134 133 36 27| 65
* RHIAH

FHAEREVI9 X28 HEEHKI 7 X117
MekE (REh) V19
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F:d # Bae B W OB KA
x B g 7 K H 2
v |px| P — 1% = 5 K& #
7}"(35 5| ¥ . B X 24 53 il 2
#h (el E B =
(om) | (m) | & | #& 3t |GEoHmx| '™ (jﬂ) H [20.5(=1.0] =5 | 210 | 250 {=100
2.2 5| 161.45 52| 13.5| 4.0 2 8 5 0 0 0 0
* *
2.1 4| 157.00 53| 42.0| 13.5] 28| 10 8 2 2 0 0
2.5 41 213.95 58| 63.0| 150 21| 10 8 6 3 0 0
3.0 6| 181.15 46| 120.0 | 32.5| 18| 11| 10 6 4 0 0
* *
3.2 6| 169.50 39| 89.5) 2.0 18| 13| 11 5 2 0 0
2.8 7| 147.60 34| 115.0 | 28.0| 23| 18| 15 7 5 0 0
4.1 4| 196.20 45| 184.0 | 36.0| 31| 13| 10 9 8 0 0
4.5 4| 207.90 50 | 32.5| 12.0 1 8 8 2 1 0 0
1.9 8| 94.30 25 | 191.0 | 42.0 4] 16| 15| 1 8 0 0
*
2.0 6| 164.10 47| 195.5| 95.0| 28 9 8 5 4 1 0
* *
1.7 3| 161.85 54| 39.5| 19.5| 12 6 5 2 2 0 0
1.9 3| 160.95 53| 40.5| 27.0| 23 6 5 3 1 0 0
* * * * :
2.7 5 | 2015.95 26 | 1126.0 | 95.0 | x28 | 128 | 108 | 58| 40 1 0
H WwoE = -
; X = |H % b
& |RE | Kk | BT
~— |4 H K O CIE T w A # H
(READ) (REA)
2 8 ® | B B | & | A 2]
26 9 "o AR 2300 | 53| vi| 17| 53| vm | 2
19 5 B ‘
5 . " & AR | 25 53 v 27 53 IX 20
0 0 A& AR B | <0 52 | X 12 | 53 | v | 14
0 0
0 0 = L 52 | X1 | 12| 53 | I 8
0 0 % | L | se | m|2e| 3| v s
0 0
ol o E XKl 83| 1 1583 | IV | 3
3 0 -
f#& | Bg | s3 I 30 53| v 5
16 7
| 13 # K| | se | x| 12| 3| v 14
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B Al 54 4 & %
T oy A i o & (©) w o
A () % = (%)
A o -
) |7 #9221 sk 10.1m [0.2m [0.3m [0.5m |1.0m | 2.0m| T4 i
i | &I HEN
I 694.9| 1.4 8.0[93.1| 1.1] 2.4 2.9 3.8]59]90| X x
m | 691.8| 3.5| 9.0|98.2| 2.8| 4.0| 4.3 47| 55| 7.2 |67.6| 14.0
m | 692.6 | 5.410.9|98.9| 41| 56| 6.1 6.4 | 6.6 | 7.5|56.2| 28.0
v | 694.3| 100 |14.3] 3.7 | 88| 9.9 |10.4 10.3] 9.5 8.8|63.1| 21.0
A% 691.4 14.9 | 19.6 7.4 113.4113.9 | 14.3 13.9 | 12.6 | 11.0 | 62.6 31.0
VI | 692.1| 20.6|24.2|14.8]19.6 |19.4 |19.4 18.6 | 16.5 | 13.7 | 75.0 | 50.0
i | 689.1| 21.7 |25.0 |16.6 |21.7 |21.6 |21.8 21.2 |19.4 [16.6 [ 80.0 | 57.0
Vi | 690.9 | 23.4 |26.7 |18.3 |23.6 |23.9 |24.3 23.7 |21.9 [19.2 | 79.3 | 49.0
IX 694.3 19.1 122.9 [ 15.1 {20.1 |21.1 |21.6 21.5 {21.0 {19.6 | 83.0 61.0
X | 694.1| 14.9]19.0| 9.8 |14.5|16.0 |16.8 17.3 | 18.1 [18.3 | 78.0 | 51.0
X | 697.4| 8.9 |13.8| 4.6 | 9.5|11.4|11.9 12.7 | 14.4 [15.8 | 80.8 | 54.0
M | 696.6| 4.4/10.7]9.4| 36| 6.0 6.8 7.9 |10.2 [12.6 | 68.3 | 30.0
# | 693.3] 12.4[17.0| 6.7|11.9 [12.9 |13.4 13.5 | 13.5 | 13.3
® M E H
(m/s)
A pyv— ; E: % | B i-EZ'%’ Z (w2 X|T BRI|EE| & B
Fopy | BKR X I A TA | T< = |Clear|Cloudy Sunless /\LLU L) Ld
I I.Z 4 2 24 5 1 22 26
II 1.3 5 7 17 7 3 15 14
I 1.8 1 2 17 9 2 2 13
Iv 1.5 2 A 13 4 o o
v 1.3 0 6| 10 11 3 ol o
VI 1.1 0 7] 9 14 6 o] o
Vil 1.0 0 10 5 14 2 0 0
Vil 1.1 0 9| 6 14 3 o] o
IX 0.9 0 11 2 18 5 0 0
X 1.1 0 12 10 14 6 0 0
X 1.1 0 10 10 14 R 4 0
1 1.1 2 1| 2 2 " 15| 14
3 1.2 14 8| 137 135 58| 67
* /KiMAH
#iE (2.0m) VI9 i (ER) V27 FEREEI21 VI25 XI 14, 18, 24

HREEIL 2,

3 V24,

30 X31




Ba B AL E H MKW A
- x & B9 OB Ok B %
F H B %%
2 REEE 24 B M B
= N
g & HE (am) | B [Z0.5[21.0| =5 | =10 | 250 | =100
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